Practice Test Chapter 2 (2.4-2.7)

NAME

KET

Add or Subtract the complex nunibers

1. 4+3i+(-3-5])

1~2¢
Multiply the expression
Forld
S 407 20
3. + 44 = &
\\_f?/

- T
3§ /o128, -8¢
38 HIgc+%

5. Solve the equation

2x%=-128
Xz“': ~4 9

X = + go‘

7. Solve x2 — 8x +

X -t =

2.

6.

(-2-5i) - (-6 + 40)
“2 -5 +G~Ye

q4-9

Rewrite the expression in complex form

(a+4i) (34s0)  R¥2H20 et

(3-5i)(315s) = 9§ -2sc*

Factor the expression

x2 + 100

X +/f>£)[>(’/0¢‘>

50 = 0 by completing the square.

-5 e

-3¢
vz g
V37



8. Solve 2x2 + 10x - 3 = 0 by completing the square.
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Solve the following system algebrai01l
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Solve the equation by using the quadratic formula
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on by the method of your choice.
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